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PART I:  COMPOSITION  (40 MARKS) 
 
Write a composition of about 200-250 words beginning with the following 
words: 
 
I was walking home in early evening when I heard footsteps behind me and 
realized that a person was following right behind me. 
 
 
PART  II:  READING COMPREHENSION  (30 MARKS) 
 
Read the text below and do ALL the exercises that follow it: 
 
Inspector Davies sat in his office, studying the reports on the three people who 
might have stolen the colonel’s collection of rare coins.  The newspapers were 
full of reports of the theft of the year.  According to the insurance company, the 
collection was worth a fortune.   
Inspector Davies had read carefully all the evidence given by the three suspects. 
 
First, there was Barnes, the man who looked after the colonel’s property.  Barnes 
was quite a small man, and had a very weather-beaten face, because he did a lot 
of sailing, even in winter.  He had been cheating the colonel for years and 
besides he was badly in debt.  Almost certainly he had a set of keys to the 
house. 
 
Next, there was the maid.  She looked young for her age.  She seemed honest 
enough herself, but the inspector had discovered that she was in love with a man 
who had spent many years in jail.  Perhaps she had let him into the house the 
night the colonel had been robbed. 
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Finally, there was the colonel’s own son.  A young man in his mid-twenties.  
When you met him you were immediately struck by his charm.  He always 
greeted you with a smile, and showed great interest in what you said.  He had 
been in trouble even when he was at the university.  He too was in debt.  
Besides, he could have entered the library, where the collection was kept, at any 
time.  The inspector decided that he must question him again more carefully. 
Just then there was a knock at the door and Sergeant Smith burst in. 
 
“Sir,” he announced dramatically, “the girl has admitted everything!” 
 
 
A. Choose the best alternative  a, b, c or d according to the text.  

( 7x3=21 marks) 
 
1.  Barnes was the colonel’s 
a.  driver 
b.  guard 
c.  gardener 
d.  manager. 
 
2.  The maid loved a man who had 
a.  spent her money 
b.  spent all his money 
c.  been abroad 
d.  been in prison. 
 
3.  The maid may have 
a.  stolen the keys 
b.  spent all the money 
c.  opened the door 
d.  forgotten to close the door. 
 
4.  At university the colonel’s son had 
a.  been difficult 
b.  been ill 
c.  needed money 
d.  done something wrong. 
 
5.  The colonel’s son could go to the library when he 
a.  liked 
b.  needed books 
c.  was free 
d.  had the time. 
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6.  Sergeant Smith spoke like 
a.  a policeman 
b.  an actor 
c.  a teacher 
d.  a drunken man. 
 
7.  The thief was the colonel’s 
a.  son 
b.  agent 
c.  maid 
d.  wife. 
 
 

B.  Choose the best alternative, a, b, c or d, that best explains the word or 
phrase, according to the text.                                                (3x3= 9 marks) 
 

1.  The colonel had been robbed of his collection of coins.  Coins (line 2) 
means 

a.  jewellery 
b.  money 
c.  stamps 
d.  papers. 
 

3.  Barnes was in debt (line 18), means that Barnes 
a.  owed money 
b.  was sick 
c.  was dying 
d.  was badly paid 
 

8.  Sergeant Smith burst in (line 21), means that he entered 
a.  in a bad temper 
b.  almost falling down 
c.  in a great hurry 
d.  breaking down the door. 
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PART III:  USE OF ENGLISH      (30 MARKS) 
 
A.  Read the sentences below and choose the word, A, B, C or D that best 
fits the gaps.                                                                                       (10 marks) 

 
1.  Look!  That man _________ your bike. 
A.  is stealing           B.  steals                 C.  stealing               D.  stolen 
 
2.  The guard told the prisoner ________.  
A.  not smoking        B.  not to smoke      C.  no smoking        D.  to not smoke 
 
3.  We’ll give the police officer the message as soon as he _________.   
A.  will arrive       B.  will have arrived       C.  is arriving          D.  arrives 
 
4.  “I’m ________ a policeman when I grow up,” said the little boy. 
A.  being              B.  studying                C.  going to            D.  going to be 
 
5.  When I arrived late, my boss was very angry ________  me.  
A.  with                    B.  for               C.  to                   D.  of 
 
6.  I told the policeman ________ had happened.  
 A.  which                   B.  who                 C.  what            D.  that 
 
7.  The thief denied  _______ the money. 
A.  stealing                 B.  stolen             C.  to steal     D.  steal 
 
8.  The three men were ________ for robbing a bank. 
A.  arrested             B.  accused                 C.  charged     D.  judged 
 
9.  If the jury find him guilty, he’ll be sent _______.  
 A.  to the prison       B.  in prison         C.  in the prison          D.  to prison 
 
10.  _______ who saw the robbery should contact the police.   
A.  Somebody          B.  One             C.  Anyone              D.  Someone 
 

 
 
B.  Fill in the gaps in the following text with the correct form of the words 

given.   (10x1=10 marks) 
  
There was a very interesting documentary on television last night.  A group of 

experts had a very (1) _____ (interest) discussion about who was 

responsible for the (2) ______ (fame) Jack the Ripper murders.  In 1888, over  
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several months, a murderer left five women (3) _____(death) in London.  It 

seems that recently discovered (4) ______  (evident) shows that it might 

have been a well-known British painter.  Forensic (5) _______ (science) 
have been able to build up a picture of “The Ripper” using (6) ________ 

(photograph) evidence from the crime scenes and (7) ______ (inform) from 

the chief pathologist’s reports. 

There’s still a lot of (8) ______ (certainty) about the case though, so they’ve 

decided to hold a (9) ______ (compete) where people write in saying who the 

(10) _______ (murder) is. 

 

 
C. Fill in the gaps in the following text with ONE of the words from the list 

below .   (5x2=10 marks) 
 

Drunk driver causes accident   
 

hospital         control       dangerous         direction        licence       limit 
 
A young driver was arrested last night after an accident with a motorcyclist.  It 

seems the driver lost (1) _____ of his car and hit the motorcyclist who was 

coming on the opposite (2) _____ .  A test used at the scene showed that the 

driver was four times over the legal (3) ______ for alcohol consumption.  He 

will appear in court tomorrow charged with (4) ______ driving.  Meanwhile, 

the motorcyclist is now in serious condition in (5) _______ . 
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                                          Suggested Answers 
 
Reading  Comprehension 

A.       7x3=21 marks 
 
1.  d.  manager 
2.  d.  been in prison 
3.  c.  opened the door 
4.  d.  done something wrong 
5.  a.  liked 
6.  b.  an actor 
7.  c.  maid 
 
B.      3x3= 9 marks  
  
1.  b.  money 
2.  a.  owed money 
3.  c.  in a great hurry 
 

 
Use of English 
                 A.  10x1=10 
 

1. A.  is stealing 
2. B.  not to smoke 
3. D.  arrives 
4. D.  going to be 
5. A.  with 
6. C.  what 
7. A.  stealing 
8. A.  arrested 
9. D.  to prison 
10. C.  Anyone 
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B.  10x1=10 
 
1.  interesting                                      6. photographic                          
2.  famous                                           7.  information                                      
3.  dead                                               8.  uncertainty 
4.  evidence                                        9.  competition 
5.  scientists                                       10. murderer 
 
C. 5x2=10 
 
1.  control 
2.  direction 
3.  limit 
4.  dangerous 
5.  hospital 
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